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14. ��"ก���#�
$��ก�� 

 

%
��&��	��'��#�
$��������(�#������"$�"ก��������/�*%%���+�ก�+"
,-�� 

������ &��&$
�./��*-�,�� TPCH 4�������"$�" 5�#ก��'*�ก�� 
TPCH - TPCH ���ก�����ก��
� ก!"#ก��$%�
���&����' ��%�� (Holding Company) ������ก�����ก��4��56���7�
���#899:���ก;� <<��
=��>��#����>?�5��<@ 
CRB $%�
������#�� 73.12 !"# TPCH  ���ก�����ก��4��56���7�
���#899:���ก;� <<��E��=�� (>���==���#8"���กก���7�
���#ก��6�899:� 5 F<65�� ���� 15 =���H= 2556) 
MGP* $%�
������#�� 46.00 !"# TPCH ���ก�����ก��4��56���7�
���#899:���ก;� <<��E��=�� (�#N���
���<ก��ก������<) 
TSG $%�
������#�� 65.00 !"# TPCH ���ก�����ก��4��56���7�
���#899:���ก;� <<��E��=�� (�#N���
���<ก��ก������<) 
MWE $%�
������#�� 85.00 !"# TPCH ���ก�����ก��4��56���7�
���#899:���ก;� <<��E��=�� (�#N���
���<ก��ก������< 6���#N���
���<��>�ก���5��� �S%F�899:���ก ก9?. 6��
� <�%�

6��<&
�4N����ก��ก���<��=&�� TT�S%F�U�#899:�) 
PGP $%�
������#�� 80.00 !"# TPCH ���ก�����ก��4��56���7�
���#899:���ก;� <<��E��=�� (�#N���
���<ก��U�&����T�5) 
SGP $%�
������#�� 51.00 !"# TPCH ���ก�����ก��4��56���7�
���#899:���ก;� <<��E��=�� (�#N���
���<ก��U�&����T�5) 
PTG $%�
������#�� 65.00 !"# TPCH ���ก�����ก��4��56���7�
���#899:���ก;� <<��E��=�� (�#N���
���<ก��U�&����T�5) 
BBRP $%�
������#�� 85.00 !"# TPCH ���ก�����ก��4��56���7�
���#899:���ก;� <<��E��=�� (�#N���
���<
#�""7�>���ก��ก��6���"����"��>��#� >;%��ก��5 "���&�ก��>��กก��ก��&�

���H5) 

*ก��ก�����H��H�=���=ก �  

 

 

 

 

 

 

 

 

 

5���(ก-6,,-��7�4�-.7ก8-��(�#
5���5�*�,-��7�4�-�59�5:��*��� 
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������ / �*%%���+�ก�+"
,-�� 

������ ��ก�;#ก��5�#ก��'*�ก�� ��ก�;#%
��&��	��'� 
���' � 8�#!;��H���V �7�ก " 
(=
�E�) ("TPOLY") 

���ก��� �>
=�ก������< 1. TPOLY >�[�4N�$%�
�����#&
T�U�< TPCH !"#$%�
���� "�������#�� 66.19 U�<����"��>��#�6��>��#กE7���6��� 
2. =�ก��=ก�����=ก � TPCH �7���� 4 ���� 8"�6ก� (1) ��#��N ก��E� (2) ��#8E#]�<HV � ���V;� <^�� (3) ��#>E�"^ ก"�_ � `�����5�ก�� 

6�� (4) ��<ก�ก��;#V � ���V;� <^�� 
���' � ��;�S� 6��>�� �7�ก " 
("TPC Asset") 

���ก��; `���� <
���=�� ;#V 1. TPC Asset >�[�
�e�<&����' �#��#U�< TPOLY !"#$%�
���&�� "�������#�� 100.00 U�<����"��>��#�6��>��#กE7���6��� 
2. =�ก��=ก�����=ก � TPCH �7���� 2 ���� 8"�6ก� (1) ��#8E#]�<HV � ���V;� <^�� (2) ��#>E�"^ ก"�_ � `�����5�ก�� 

���' � ��>��;�;� H��S �65��V 
�7�ก " ("VSPP") 

���ก��� ����<>"��>H�%��<6�����
��
!�<899:� 

1. VSPP >�[�
�e�<&�4N�$%�
���U�< CRB !"#=�� "����ก��$%�
������#�� 16.88 U�<����"��>��#�6��>��#กE7���6��� 
2. =�ก��=ก�����=ก � CRB �7���� 1 ���� H%� ��#������ >����<^V ] �#��#� 

EnBW ���ก��4��56���7�
���#
ก��6�899:�&����>�^>#��= � 

1. EnBW  >�[�
�e�<&�4N�$%�
���U�< CRB &�� "�������#�� 10.00 U�<����"��>��#�6��>��#กE7���6���  
2. EnBW >�[�
�e�<&�4N�$%�
���U�< MGP &�� "�������#�� 46.00 U�<����"��>��#�6��>��#กE7���6���  
3. EnBW >�[�
�e�<&�4N�$%�
���U�< TSG &�� "�������#�� 35.00 U�<����"��>��#�6��>��#กE7���6��� 

���' � !H!H� ���
��� "ก��
>E%F�>;��<E��=�� �7�ก " ("Coco 
FMC") 

���ก��>ก��#�ก �ก������ ก'V
;� <<��
�%�ก��6ก�8U�iT
�
���<6�"���=��กก��&E�6��ก��
4��5;� <<�� 

1. =�ก��=ก�����=ก � MGP H%� ��<���T"� ^�?� `�V��=� Se�<>�[�ก��=ก��6��4N�$%�
���&
T�U�< Coco FMC (��<���T"� ^�?� `�V��=� 
����ก��กก��>�[�ก��=ก��&� MGP >=%��� ���� 26 =�$���#� 2557) 

��#���?�� ^����<H7� - 1. >�[�ก��=ก��&����' � ก��� >;�>���V 6;���V �7�ก " (jGPPk) Se�<>�[�4N�$%�
���U�< PTG MWE 6�� SGP &�� "�������#�� 10.00 
10.00 6�� 9.00 U�<����"��>��#�6��>��#กE7���6��� 5�=�7�" � 

���' � ก��� >;�>���V 6;���V 
�7�ก " (jGPPk) 

���ก��� ����<>"��>H�%��<6�����
��
!�<899:� 

1. GPP Se�<>�[�4N�$%�
���U�< PTG MWE 6�� SGP &�� "�������#�� 10.00 10.00 6�� 9.00 U�<����"��>��#�6��>��#กE7���6��� 
5�=�7�" � 

5���(ก-6,,-��7�4�-.7ก8-�� (�#
5���5�*�,-��7�4�-�59�5:��*��� 
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��"ก���#�
$�� TPCH ก�� TPOLY  

��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 

5A 2556 �
� 9 ��/��(�ก  
5A 2557 

TPCH ���< TPOLY ���
��
� "ก�� 
• H�����<���
��� "ก�� 

 
 

2.99 

 
 

- 8=�=� - 

��กก����� TPCH $Nก� "5 F<>=%��� ���� 26 � ���H= 2555 >;%��6#กก��"7�>������ก��
!�<899:�E��=����ก=���ก TPOLY !"#&�E��<>���=5��# <=�8"�=�ก��!��#��#
;� ก<����ก TPOLY =�# < TPCH &�� ��� 65�>;%��&
�ก��"7�>���ก��6�����
��
� "ก��U�< TPCH >�[�8�8"��#��<5��>�%��<6��=���������?�; &�E��<>���
��
���<��� ���' �l "7�>���ก�����
�6��� "���<��H��ก�&
�>
=���= ���' �l �e<
8"��7�� TT����<���ก��E ��H���ก � TPOLY  H���H��=ก��"7�>���ก��� F<
="
U�<���' � >E�� <��"���� TE�ก��><��  <��"���5������6��ก���m�� 5�<��
?�#&� >�[�5�� >�[�>��� 7 >"%�� 5 F<65�� ���� 2 =ก��H= 2556 $e<� ����  31 
ก�กn�H= 2556 6��>=%��H��ก7�
�"� TT�" <ก���� TPCH 8"�� �!��;� ก<��
��<������ก TPOLY 6�����
���H��ก�>U��=�"7�>���<��>;��=>5�= 6��=�8"�=�
ก��5��� TT����<���ก��ก � TPOLY ��ก5��8� 

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก��
" <ก����=�H��=>
=���= >�%��<��ก&���#�6�กU�<
ก��� "5 F<���' �l ���' �l # <8=�=�;� ก<�� ก�����<
��H��ก���ก TPOLY Se�<=�H��=��=��$;���=�����
�7�<��8"�� ����e<=�H��=>
=���= ��ก��ก��F� 5��
H� ��� �< >
=���= >�%� � <��ก�� �<�� <��ก� 5��
H��5��6�����<U�<��H��ก�5�=��#�>���&�ก��
�7�<�����H�"�����>ก�"UeF����<5��"��#�>���U�<
� TT� 

TPCH >E��;%F������ก TPOLY 
• H��>E��;%F���� 
• H��&E����#H��<���#�%�� 

(��=?�'�=N�H��>;��=) 
#ก=� 
>;��=UeF� 
�"�< 
H<>
�%� 

 
0.07 

 
 

0.00 
0.08 
0.00 
0.08 

 
0.13 

 
 

0.08 
0.13 
0.21 
0.00 

TPCH =�� ก']�ก�����ก�����ก��>�[� Holding Company ���8=�=�H��=
�7�>�[�5��<&E�;%F����&�ก��"7�>������ก��U��"&
T�  !"# TPCH >E���7�� ก<����ก 
TPOLY >�%F����  74 5���<>=5� !"#;%F����6#ก>�[�� "�������=�����>U����ก
�7�� ก<��6#ก��ก��ก TPOLY =���#�� TT�>E�� 1 �p 5 F<65�� ���� 1 ��<
�H= 
2556 6��� TT���5��>�%��<H� F<�� 1 �p !"#� 5!�= 5� ���� 5��H��>E���� �UeF��p��
8=�>ก�����#�� 5.0 !"#� TT�>E���i���� �=�H��>E��>���ก � 15,540 ��� / >"%�� 

�%� 5���<>=5��� 210 ��� / >"%�� Se�<��=H��;%F���� H��899:� H���F7������ H�����
��"�$ ก��"N6�� ก'�H��=���"? #6��� ก'�H��=����" 

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก��
" <ก����=�H��=>
=���= >�%��<��ก� ก']����ก��
U�< TPCH ���>�[� Holding Company8=�=�H��=
�7�>�[������5��<=�;%F����&�ก��"7�>���ก��=�ก� ก 
��ก��ก��F ><%���8U6����H�H��>E��;%F����=�H��=
>
=���= !"#><%���8U>��#�>H�#<8"�6����H�5�7�
ก���� 5��&
�>E���7�� ก<��&����>�]&ก��>H�#<Se�<=�
H��>E��>"%�������=�] 250 ��� / 5���<>=5� 
(��H�H��>E�����5�7�ก��� >�%��<��ก�$�����5 F<�7�� ก<��
U�< TPCH �#N�&�S�#���=���#���<�eกก���) 

TPCH &
�><��กN�#%=ก � TPOLY  
• ><��&
�กN�#%= 

#ก=� 
&
�><��กN� 
� �E7���><��กN� 

 
 

 0.00 
 122.00 
 122.00 

  
 

0.00 
100.00 
100.00 

��กก��������' �l ��"=����7���� 330 ������� &�>"%��ก�กn�H= 2556 >;%��
>5��#=;���=&�ก��>;��=���&
�ก ����' �#��# 8"�6ก� MGP TSG 6�� BBRP Se�<�#N�
��
���<��&����T�5���ก��ก��ก��!�<<�� (�<. 4) >;%��>���=�7�ก��ก������<
!�<899:� �#��<8�กo"�U F�5��ก�����= 5� �<.4 =�H��=���E��ก������H�" ��<4�&
�  
���' �l =��?�;H���<����>ก�� �e<8"�
�6����<��������
���?�;H���<" <ก����

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก��
" <ก����=�H��=>
=���= >�%��<��ก>�[�ก��
�
4�5��6����ก><��>;��=���U�< TPCH Se�<# <8=�
��=��$�7�8��<���"7�>���ก��&�!�<899:�8"� 
��ก��ก��F ><%���8U6��� 5��"�ก>��F#U�<� TT�

5���5�*�,-��7�4�-�59�5:��*���(�#�	�+���"�#���"���%��5��"����"� 
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��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 

5A 2556 �
� 9 ��/��(�ก  
5A 2557 

H<>
�%� 
• "�ก>��F#� � 
• "�ก>��F#H��<� � 

#ก=� 
"�ก>��F#>;��= 
� �E7���"�ก>��F# 
H<>
�%� 

 0.00 
  

0.71 
  

0.00 
 0.71 
 0.71 
 0.00 

0.00 
 

0.63 
 

0.00 
0.63 
0.63 
0.00 

&
�>ก�"���!#E�Vก ����' �l  !"#&��p 2556 $e<85�=�� 1/2557 TPCH 8"�&
�><��
กN�#%=ก � TPOLY 5�=� TT�><��กN�#%= 3 s� � ก7�
�"><%���8U&
� TPOLY ��5��<
E7���><��กN�#%=>=%�� TPCH ��<$�= !"#ก7�
�"� 5��"�ก>��F#><��กN�H<������#�� 6 

� F<��F TPOLY 8"�E7���H%�><��5��6��"�ก>��F#5�=� TT�><��กN�#%=� F<
="H��$���
6���&�85�=����� 1 �p 2557 6��8"�#ก>��ก� TT�กN�#%=><��" <ก����� F<
="6��� 

><��กN�=�H��=>
=���= >�%��<��ก� 5��"�ก>��F#�N<
ก���� 5��"�ก>��F#><��t�กU�< TPCH �#��<=�
� #�7�H T 6��8=�8"�>�%F�4����!#E�V&
�ก ���HH����
���=�H��=U "6#�< ��กก������ 5��"�ก>��F#&
�กN�>�[�
� 5�����&ก��>H�#<ก �� 5��><��กN���#�� F�U�< TPOLY 
��� TPOLY ��=��$กN�8"���ก�$�� �ก��><��&�
U]�� F� 

TPOLY H��<E7���H��
��� 
TPCH 
• �Nก
��Fก��H�� - >EoH� �

���<
��� 
#ก=� 
>;��=UeF� 
E7���H%� 
H<>
�%� 

 
 
 
  

0.25 
 0.00 
 0.25 
 0.00 

  
 
 
  

- 8=�=� - 

TPCH �"��>��#�� "5 F<���' �>=%��� ���� 26 � ���H= 2555 !"#=�����"��>��#�
6��>��#กE7���>���ก � 153.0 ������� ���ก��8�"��# 1) TPOLY E7���H��
���
"��#
������' �!�<899:�� F<
="U�< TPOLY (8"�6ก� CRB TSG 6�� BBRP) ��=
=N�H�� 152.47 ������� 2) ><��>;��=���>�[�><���" 0.28 ������� >;%��E7���
H�����=>��#=&�ก��� "5 F<���' � 6�� 3) �������>
�%�>�[�>EoH TPOLY � �<���# 
0.25 ������� !"#&�U]�� F� TPCH �#N���
���<>�u"� TE�><��t�ก���H��>;%��
�7�>EoH" <ก����>U��t�ก ��<4�&
� TPCH # <=�8=�8"�� �E7���H��
���&�����U�<>EoH
=N�H�� 0.25 ������� ] � ��u"<�"<�ก��><�� !"#5��=� 10 =ก��H= 2556 

� <��ก��� TPCH 8"�>�u"� TE����H��>��#����# TPCH 8"��7�>EoH>U��t�ก�7���� 
0.25 ������� ��<4�&
� TPOLY 8"�E7���H��
���H��$��� 

%;#ก���ก��8�
�&�� =�H��=>
o���� ก��H��<
E7���H��
���U�< TPOLY >�[�4�=���ก��#�>���
&�ก��>�u"� TE�><��t�ก���H��U�<���' � Se�<
>ก�"UeF�&�E��<��F�<�"U�<<�ก��><�� !"#=�8"�
>ก�"UeF���กH��=���E��&�ก��E7���U�< TPOLY 65�
�#��<&"  

TPCH S%F�>H�%��<&E��7�� ก<��
��ก TPOLY 
• >H�%��<&E��7�� ก<�� 
• H��� �"���F�>��%�< 

 
 
 - 8=�=� v 
 - 8=�=� - 

 
 

0.10 
0.02 

>�%��<��ก TPCH >;��<$Nก� "5 F<>=%��� ���� 26 � ���H= 2555 >;%��6#กก��"7�>���
���ก��!�<899:�E��=����ก=���ก TPOLY " <� F�>;%��&
�>ก�"H��=��"�ก6��
5��>�%��<&�ก��"7�>���<��U�< TPCH ���' �l �e<8"��#�#S%F�>H�%��<&E��7�� ก<��
6��� �"���F�>��%�<��ก TPOLY 8"�6ก� !�w5��wH >ก����F !5w��7�<�� 5N�>กo�>�ก��� 
6�����ก�]V>H�%��<>U�#� >�[�5�� 

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก��
" <ก����=�H��=>
=���= >�%��<��ก�7�&
�>ก�"H��=
��"�ก6��5��>�%��<&�ก��"7�>���<�� >;���8=�
�7�>�[�5��<=�ก��>H�%���#��#���ก�]V�7�� ก<�� 6��
><%���8U��H�=�H��=>
=���= >�%��<��ก��H�S%F�
U�#��=��$>��#�>H�#<8"�ก ���H�5��" 

 

5���5�*�,-��7�4�-�59�5:��*��� 
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��"ก���#�
$�� TPCH ก�� TPC Asset 

��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 

5A 2556 �
� 9 ��/��(�ก  
5A 2557 

TPCH &
�><��กN�#%=ก � TPC 
Asset  
• ><��&
�กN�#%= 

#ก=� 
&
�><��กN� 
� �E7���><��กN� 
H<>
�%� 

• "�ก>��F#� � 
• "�ก>��F#H��<� � 

#ก=� 
"�ก>��F#>;��= 
� �E7���"�ก>��F# 
H<>
�%� 

 
 
 

0.00 
 74.00 
 0.00 
 74.00 

1.27 
 

0.00 
1.27 
0.00 
1.27 

  
  
  

74.00 
6.00 

80.00 
0.00 
1.05 

 
1.27 
1.05 
2.32 
0.00 

��กก��������' �l >;��=����7���� 330 ������� >=%��>"%��ก�กn�H= 2556 
>;%��>5��#=;���=&�ก��>;��=���&
�ก ����' �#��# 8"�6ก� TSG MGP 6�� 
BBRP Se�<�#N���
���<&����T�5���ก��ก��ก��!�<<�� (�<. 4) >;%��>���=�7�
ก��ก������<!�<899:� �#��<8�กo"� U���ก�����= 5� �<.4 =�H��=���E��ก������
H�" ��<4�&
����' �l =��?�;H���<����>ก�� 4N����
���e<8"�
�6����<�����
���
���?�;H���<" <ก����&
�>ก�"���!#E�Vก ����' �l !"#&�E��<�p 2556 
$e<85�=�� 1 �p 2557 TPCH &
�><��กN�#%=ก � TPC Asset 5�=� TT�กN�#%=
><�� 3 s� � ก7�
�"><%���8U&
� TPC Asset ��5��<E7���><��กN�#%=>=%�� 
TPCH ��<$�= !"#ก7�
�"� 5��"�ก>��F#><��กN�H<������#�� 6 
� F<��F TPC Asset 8"�E7���H%�><��5��6��"�ก>��F#5�=� TT�><��กN�#%=
� F<
="H��$���6���&�85�=����� 1 �p 2557 6��8"�#ก>��ก� TT�กN�#%=><��
" <ก����� F<
="6��� 

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก��
" <ก�� � �=� H � �=�= >
5� �=4�  !"# >�[�ก��
�
4�5��6����ก><��>;��=���U�< TPCH Se�<# <8=�
��=��$�7 �8��<���"7 � >���ก�� &�!�<899: �8"� 
��ก��ก��F ><%���8U6��� 5��"�ก>��F#U�<� TT�><��กN�=�
H��=>
=���= >�%��<��ก� 5��"�ก>��F#�N<ก���� 5��
"�ก>��F#><��t�กU�< TPCH �#��<=�� #�7�H T 6��8=�8"�
=�ก��>�%F�4����!#E�V&
�ก ���HH�������=�H��=U "6#�< 
��กก������ 5��"�ก>��F#&
�กN�>�[�� 5�����&ก��>H�#<ก �
� 5��><��กN���#�� F�U�< TPC Asset �����=��$กN�8"���ก
�$�� �ก��><��&�U]�� F� 
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��"ก���#�
$�� CRB (�# TPOLY 

��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
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%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 

5A 2556 �
� 9 ��/��(�ก  
5A 2557 

CRB ���< TPOLY &
����ก��"���
ก��><�� ก��� TE� ก��5������
6��"N6�ก���m�� 5�<��?�#&� 
• H��&E����#&�ก�����
���%�� 

 
 

 
0.01 

 
 

 
- 8=�=� - 

 

>�%��<��ก CRB 8=�=���H��ก���<"���<��"���� TE� ก��><�� ก��5������
6��ก��"N6�ก���m�� 5�<��?�#&� �e<8"��7�� TT����ก�����<��H��ก���ก 
TPOLY 5 F<65�� ���� 1 =���H= 2556 $e<� ���� 31 ก�กn�H= 2556 ���� 5�� 
2,150 ��� / >"%��  6��>=%��H��ก7�
�"� TT�" <ก���� CRB 8"����< 
TPCH >�[�4N�&
����ก��" <ก����6�� 6��8=�=���#ก�����<" <ก����ก � 
TPOLY ��ก5��8�&����H5 

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก��
" <ก����=�H��=>
=���= >�%��<��ก���' �#��# # <8=�=�
��H��ก� &�U]���� TPOLY =���H��ก����=�H��=��=��$
;���=�����"7�>���<��8"�� ���  ��ก��ก��F  H�����<
" <ก����=�H��=>
=���= >�%��<��ก8"����<��<��ก� 5��
H��5��6��U�<;� ก<����� TPOLY ���#5�=���<  

CRB ���< TPOLY &�ก��
� �>
=�ก������<!�<899:� 
• ><�����#���<
���H��

ก������< 
#ก=� 
>;��=UeF� 
�"�< 
H<>
�%� 

• 5�����!H�<ก����
���<
ก������< 

 
 

  
 

20.56 
0.00 

20.56 
0.00 

61.79 

 
 
 
 

- 8=�=� - 
 
 

 

&��p 2554 CRB 8"��7�� TT�������< TPOLY &�ก��ก������<!�<899:�E��
=�� H�">�[�=N�H����=>���ก � 443.27 ������� !"#;����]���กก����� 
TPOLY >�[�4N�� �>
=����=������ก��]V&�ก��ก������<!�<899:�=�6���

��#H� F< !"#?�#
� <��ก�<��=&�� TT� 8"�=�ก��6ก�8U� TT� 2 H� F< 
=N�H��>����#�=�>�[�>���ก � 438.85 ������� >;%��������ก��>;��= / �"U�<
<��ก������< 
� F<��Fก��ก������<6���>��o�6��>���="7�>���ก��>E�<;�]�E#V&�� ����  15 
=���H= 2556 !"# CRB � �=��!�<<��6���>=%��� ���� 9 � ���H= 2556  

%;#ก���ก��8�
�&�� =�H��=>
o������#ก��
" <ก����=�H��=>
=���= >�%��<��ก TPOLY =�
�����ก��]V&�ก��ก������<!�<899:� 6��U��>���U�< 
TPOLY &E���#�>���&�ก��ก������<� F�ก���4N�� �>
=�
��#�%�� ��ก��ก��F��ก4�ก��^eก'�H��=>�[�8�8"�U�<
!H�<ก�� ���' �l # <8"�� �4�5��6����กก���<��� 
(IRR) �N<ก���� 5��������' �l ก7�
�"8�����8=����#ก���   
���#�� 15 
 

CRB S%F� Server System ��ก 
TPOLY 
• >���
��Fก��H�� 

#ก=� 
>;��=UeF� 
�"�< 
H<>
�%� 

• ���"�� ��H�� 6�����ก�]V 

 
  

 
0.00 
0.03 
0.00 
0.03 
0.03 

 
  

 
0.03 
0.00 
0.03 
0.00 
0.03 

CRB S%F� Server U�< IBM 6�� ���ก�]V�� {ก��� ��ก TPOLY !"#
?�#
� <��ก��� CRB 8"�>���="7�>���ก��U�#899:�6��� 4N����
��=�H��=
�7�>�[������5��<5�"5�=U��=N�5��<@ U�<ก��4��5899:�U�<!�<899:�6��
>��#�8�=V (Real Time) " <� F��e<5��<� "
����ก�]V" <ก����>;%��� ��eก
U��=N����>ก�"UeF� >E�� ���=�]ก��4��56���7�
���#899:� >�[�5�� !"#
&�U]�� F�
�ก CRB � "S%F����ก�]V" <ก����&
=�5��<=�ก����<H7�� �<S%F�
���<
���6��8=�8"�� ����H��&�� ��� " <� F� CRB �e<S%F���ก TPOLY >;%��&
�
��=��$� ����ก�]V8"�� ��� &���H�5�=� TE���กก7�8����#�� 10 (
�%�
���=�] 2,500 ���) >;%���7���<>�[�H��&E����#&�ก��>H�%���#��#���ก�]V
��ก TPOLY 8�# <!�<899:� CRB  !"#&�85�=����� 1/2557 CRB 8"�
E7���
��FH��$���6��� 

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก��
" <ก����=�H��=>
=���= >�%��<��กก��S%F����ก�]V
" <ก������ก TPOLY =�H��=�7�>�[� >;%��&
����' �l 
��=��$5�"5�=U��=N�5��<@ U�<!�<899:�8"��#��<
5��>�%��<
� <��ก��� CRB >���="7�>���ก��6��� Se�<
�ก
� "S%F���ก4N�U�#��#�%����8=���=��$� ����ก�]V8"�� ��� 
� F<��F��H�S%F�U�#>�[���H�>
=���= >�[���H�5�=� TE�
��กก7�8�H��"7�>���ก�� 6��5�7 �ก�����H� Server 
System U�<&
=�&�����U�<���ก�]V���>��#�>H�#<ก �8"�  
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��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
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%
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%
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�&�� 

5A 2556 �
� 9 ��/��(�ก  
5A 2557 

CRB U�#899:�&
�ก � TPOLY 
• ��#8"��%�� 

 
2.42 

  
- 8=�=� - 

5�=� TT�ก������< TPOLY >�[�4N�� �4�"E��H��899:����&E�&���
���<ก��
ก������< 5��=� >=%��ก��ก������<&ก��6���>��o�8"�=�ก��>����#�4N�� �4�"E��
ก�����#H��899:�&
�ก � ก9?. ��ก TPOLY =�>�[� CRB >�%��<��ก CRB 
Se�<>�[�>���U�<!H�<ก��899:���>�[�4N�"7�>���ก��#%��U�&E�899:�6��>�[�
>���U�<=�>5��V899:� �e<��<4�&
� CRB 5��<>�[�4N����#H��899:�&�E��<���=�
ก��>����#�6��<ก��� �4�"E��" <ก���� 6��=�>��#ก>กo�H��899:���ก 
TPOLY 5�=H��&E����#���>ก�"UeF����<��� ก9?. >��#ก>กo���ก�� 
� F<��F� TT�ก������<8"�����><%���8U>�%��<ก��� �4�"E��H��899:�&�E��<
ก������<6��E��<�"���8�� H%� H��899:���
���<ก������<>�[�U�< TPOLY 
H��899:�&�ก��5�"5 F<��#��< 33 KV 6��
=��6��<>�[�U�< CRB  6��H��
899:���
���<�"������� (Commissioning) >�[�U�< CRB   

%;#ก���ก��8�
�&��  =�H��=>
o��� �  ก��
"7�>���ก��" <ก���� =�H��=�=>
5��=4�>�[�8�5�=
><%���8UU�<� TT�ก������< 6��� 5��ก��>��#ก>กo�H��
899:�>
=���= >�[�8�5�=� 5�����>ก�"UeF����<6��5�=���
8"�5ก�<ก �8�� 

TPOLY HF7����ก �><��กN�#%=��ก
�$�� �ก��><��&
�ก � CRB 

  5�=� TT�HF7����ก �><��กN�#%=��
���< TPOLY 6�����H��;�]�E#V6
�<

�e�<����8����� TPOLY #��#�=�����HF7����ก �ก��E7���
��FU�< CRB 
� F<
=" !"#=��<><��HF7����ก �� F<��F� 580.0 ������� >�%��<��ก ] � ��7�
� TT�><��กN� TPOLY # <>�[�4N�$%�
���U�< CRB !"#5�< ก���ก���� �
!H�<����<ก���=���' �&
� TPCH >U��$%�
���6�� TPOLY 
>=%��>"%��=�$���#� �p 2557 ���H��" <ก����=��"
=�##��#�=ก��U�
>����#�6��<4N�HF7����ก � !"#&
� TPOLY HF7����ก �>5o=�<><�� 8�
��ก��� �< TPCH >U���"��>��#�&�5��"
� ก�� ;#V 
� <��ก� F�#��#�=
&
�>����#�4N�HF7����ก �5�=� "����ก��$%�
��� H%� TPCH ���#�� 73.13 
VSPP ���#�� 16.87 6�� EnBW ���#�� 10.00 Se�<���7�&
� TPCH 8=�=�
ก��;e�<;�<ก � TPOLY &�ก��HF7����ก ���ก5��8� 
!"# ] � ���� 30 ก �#�#� 2557 CRB =�#�"><��กN�H<>
�%�5�=� TT�><��กN�
" <ก���� 425.84 ������� 

%;#ก���ก��8�
�&�� =�H��=>
o������#ก��
" <ก����=�H��=>
=���= >�%��<��ก&�U]�� F� TPOLY 
# <>�[�4N�$%�
���&
T�&� CRB 6��&��i���� ����H��=�
�"
=�##��#�=ก��U�>����#�6��<4N�HF7����ก � !"#&
� 
TPOLY HF7����ก �>5o=�<><�� 8���ก��� �< TPCH >U��
�"��>��#�&�5��"
� ก�� ;#V 
� <��ก� F�&
�>����#�4N�
HF7����ก �5�=� "����ก��$%�
��� Se�<���7�&
� TPCH 8=�
=�ก��;e�<;�<ก � TPOLY &�ก��HF7����ก ���ก5��8� 

 

5���5�*�,-��7�4�-�59�5:��*��� 
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��"ก���#�
$�� CRB ก�� VSPP 

��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 

5A 2556 �
� 9 ��/��(�ก  
5A 2557 

CRB ���< VSPP 5�=� TT����<
>"��>H�%��<6���7���<� ก'� 
• �Nก
��F�%��@ - ><�����#

���<
���H�����
��� "ก�� 
• H�����
��� "ก�� 
• >���
��Fก��H�� 

 
 

18.50 
 

87.50 
18.28 

 
 

18.50 
 

83.89 
21.52 

CRB 8"��7�� TT����<>"��>H�%��<6���7���<� ก'�ก � VSPP >�%��<��ก 
VSPP >�[����' ����=������ก��]V&�ก���<���6��"7�>���<��!�<899:�
E��=�� =�H��=� =; ��V���"�ก �>���U�<>E%F�>;��< 6��E�=E����!�<899:� 
!"#� TT�=�U��>U5H���H��=$e<ก��� "
�>E%F�>;��< ก��>"��>H�%��< 
S��=6S= 6���7���<� ก'�!�<899:� � "ก��H��H�=�?�;6�"���= � F<
?�#&�6��?�#��ก!�<899:�&
�>�[�5�=���กn
=�#ก7�
�" ��ก��ก� F� 
VSPP ��������<��ก �
���#<����Eก��5��<@ ���>ก��#�U��< 6��"N6�
"���=��E�� =; ��V &
�=�� =; ��?�;���"���
���<!�<899:�ก �E�=E� !"#
5�=� TT��<� ���� 14 =�$���#� 2554 ก7�
�"��� CRB ��E7���H�����
��
� "ก��&
� VSPP &�� 5��
���#�� 1.4151 - 1.4307 ��� / 
���#899:�
���U�# &�E��<��>��� 3 �pU�<� TT� (>���=5��� ���� 1 ก�กn�H= 2556) 
6��5�=� ��eกU��5ก�<6�����#� TT�� ���� 11 >='�#� 2556 �������
5 F<65�� ���� 15 =���H= 2556 $e< � �>��o���F�ก���7� Performance 
Guarantee Test (� ���� 1 ก�กn�H= 2556) CRB ��E7���H�����
��
� "ก��&
� VSPP &�� 5��
���#�� 2.0151 ��� / 
���#899:����U�#  
  
�#��<8�กo5�= >=%��� ���� 10 ก�กn�H= 2557 HN�� TT�8"�� "�7�� TT����<
>"��>H�%��<6���7���<� ก'�s� �&
=�UeF� !"#&
�=�4�&E�� <H �5 F<65�� ���� 1 
ก�กn�H= 2557 $e<� ���� 30 =�$���#� 2562 Se�<5�=� TT�s� �&
=���
>����#�����ก��E7���H�����<���
��� "ก��&
�ก � VSPP >�[���#>"%��&�
� 5�����#�� 44.75 U�<��#8"�H��899:������  
 
� F<��F CRB ��E7���H�����<���<
���&
�ก � VSPP >�[�><�� 18.5 ������� 
�7�
� �>�[�><�����
=��>��#�6���7���<>E%F�>;��< !"# VSPP ��H%�&
�>=%��
H��ก7�
�"ก��������<6��4N�������<8=�����<HV��5��� TT� !"#4N�������<��

 ก��ก��กH�����< 5 <�"��"���# (��#��>��#"5�=
 �U�� 5.3 &�������� 2) 

%;#ก���ก��8�
�&�� =�H��=>
o����ก��>U���7�� TT�ก � 
VSPP =�H��=>
=���= ��กก��;����]������ก��]V 
H�]�=� 5� 6��U��>U5<�����H��$���  
6��><%���8UU�<� TT�=�H��=>
=���= >�%��<��กก��ก��E7���
H��5��6��&
�ก � VSPP ก7�
�">�[�H�����ก��5�=�7����

���#899:�����7�
���# !"# VSPP # <8"�� ����ก �
���#899:�
����7�
���#U F�5�7�&
�ก � CRB &�65����p Se�<
�ก VSPP �7�
���#
899:�8"�5�=
���#899:����� ����ก �กo����<4�&
� CRB 8"�� �
4�5��6����กก���<����#��<>
=���=6��
�ก VSPP 8=�
��=��$�7�
���#899:�8"�5�=
���#899:����� ����ก � VSPP 
��5��<E7���H���� �&
�ก � CRB &�� 5��>"�#�ก �!�� ���� VSPP 
��8"�� �
�ก�7�
���#899:�8"�=�กก���
���#899:����� ����ก � 
 
%;#ก���ก��8�
�&�� =�H��=>
o����ก��>U���7�� TT�s� �
&
=� >;%��>�[�ก��� ก'�HN�H�����"� >�%��<��ก4�<����� VSPP 8"�
>"��>H�%��<&
�ก � CRB &�E��<���=�] 1 �p���4���=� ��=��$
>�[�8�5�=>�:�
=�#������' �l 8"�ก7�
�"8�� ��ก��ก��F><%���8U
U�<� TT�&
=�=�H��=�=>
5��=4� 6=����� 5��H�����
��� "ก��
5�=� TT�&
=�=�4�ก��4�5��� 5��ก7�8������U�< CRB �"�< 
���=�]���#�� 1 $e<���#�� 3 กo5�= !"#=�U��"����8"�H%� 1) 
� TT�&
=�=���#�� TT�#��UeF���ก��#�� TT�>"�=���>
�%� 2 �p 
!"#��=��$U#�#>���8�>�[� 5 �p &�U]���� CRB # <8=�=�H��=
;���=��������
��!H�<ก��8"�>�<  2) CRB 8=�5��<� �H��=>���#<
&�>�%��<ก��H��=4 �4��U�<��H�>E%F�>;��< (>��#�ก �� TT�>"�=
�������8����� CRB 5ก�<����� ���H�>E%F�>;��<5��
���#UeF�5�=
��H�$ �>s���#U�<>E%F�>;��<&��p���4���=�
�ก��H�$ �>s���#U�<
>E%F�>;��<&��p���4���=��N<ก�����H�>E%F�>;��<U F�5�7�5��
���#Se�<
>���ก � 1.1550 ��� 5��
���#899:����U�#&
�ก��899:� !"#H��

5���(ก-6,,-��7�4�-.7ก8-�� (�#
5���5�*�,-��7�4�-�59�5:��*��� 
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��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 

5A 2556 �
� 9 ��/��(�ก  
5A 2557 

>E%F�>;��<5��
���#" <ก����>�[�
�e�<&��������ก��U�<H��
���
��� "ก��U�< VSPP) 6�� 3) VSPP 5ก�<� ����ก �ก��
>"��>H�%��<>;%��4��56���7�
���#ก��6�899:�>�[��7���� 70.20 
����
���#5���p Se�<>;��=UeF���ก� TT�>"�=����7���� 69.12 ����

���#5���p 
  
�7�
� �><%���8Uก�����#E7���H�����<���<
����7���� 18.5 ����
��� =�H��=�=>
5��=4� >;%��&
� VSPP ��=��$&E�>�[����

=��>��#�&�ก�����
��!�<899:� CRB ��กก����� VSPP ��5��<
�7�ก��S%F�>E%F�>;��< 6��=�5�����"7�>���ก��&�>�%��<H��&E����#
;� ก<�� !"# VSPP ����=��$8"�� �E7���H�����ก����ก CRB 
?�#
� <��ก��� CRB 8"�� �E7���H��U�#899:�6��� 
�%����=�] 
80 � � � ���ก� ����>���=S%F�>E%F�>;��< Se�<
�ก>���#�>��#�6��� 
VSPP ��5��<&E�><�����
=��>��#����=�] 27-28 ������� 
&�E��<>���" <ก���� 

VSPP S%F������ ;#V�7�
� � CRB 
• >���
��F�%�� 

#ก=� 
>;��=UeF� 
�"�< 
H<>
�%� 

 
 

- 8=�=� - 

 
 

0.00 
1.10 
1.10 
0.00 

&�85�=����� 1/2557 CRB 8"�S%F������ ;#V >E�� ��#;���7�>��#< ก���< 
CCTV ��=� F<���ก�]V�7�� ก<��6��� �"���F�>��%�<�%��@ ��=>�[��7���� 
1.10 ������� !"# VSPP Se�<>�[�4N�"7�>���ก��!�<899:�>�[�4N��7���<���#
H�����H��6�� CRB 8�ก��� 6���7�
� ก���ก��E7���><��=�>��กก � CRB 
��กH� F<
�e�< " <� F�"��#����ก��� "S%F�" <ก������<4�&
� VSPP >�[�>���
��F
ก��H���%��ก � CRB  
� F<��F ���' �l 8"�6��< CRB >�[���#� ก']V� ก'� &
�#ก>��ก����ก��� �<S%F�
����� ;#V6��>"�=���&
�  VSPP �7���<���#8�ก���6���5 F<>��ก��
� < 
>����#�>�[�����ก��� �<S%F�!"#5�<��ก CRB Se�<=�� TT����<���ก��&
� 
TPCH "7�>���ก��&�>�%��<ก��� "S%F� !"#&
�=�4�5 F<65�� ���� 7 ;�'?�H= 
2557 >�[�5��8� 

%;#ก���ก��8�
�&�� =�H��=>
o����ก��S%F������ ;#V=�
H��=>
=���= �7�>�[� >;%��&
�=������ ;#V>;�#<;�5��ก��
"7�>���ก�� 6��><%���8U��H�=�H��=>
=���= >�[�8�5�=��H�
���H�����  VSPP � � <S%F����< 6��"��#U F�5��ก��� �<S%F����
�� �>����#�>�[�ก����� CRB >�[�4N�� �<S%F�>�<����=��$U� "
���>"o�H��=U "6#�<��<4����!#E�V������>ก�"UeF�8"�&�U F�5��
ก��� �<S%F�6��>"�=8"� 

VSPP E7���H����8
��6��� �"�
��F�>��%�<�7�
� � CRB 
• 5�����H���7���<S��=6S= 

 
 

- 8=�=� - 

 
 

0.89 

CRB 8"�=�ก��� "S%F���8
��6��� �"���F�>��%�<��ก4N�U�#!"#5�<&�E��<
>"%��;�'?�H= 6��=�$���#�>;%��&E�&�ก���7���<� ก'�����7��p&�E��<
>"%��ก�กn�H= !"#>=%��$e<ก7�
�"E7���><�� VSPP 8"��7�ก��E7���><��H��

%;#ก���ก��8�
�&�� =�H��=>
o����ก��S%F���8
��6��� �"�
��F�>��%�<�7�
� �ก���7���<� ก'�����7��p=�H��=�7�>�[� 6��ก��
���#E7���><��&
�ก � VSPP �=>
5��=4� >�%��<��ก VSPP ���#

5���(ก-6,,-��7�4�-.7ก8-�� (�#
5���5�*�,-��7�4�-�59�5:��*��� 
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��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 

5A 2556 �
� 9 ��/��(�ก  
5A 2557 

• >���
��F�%�� 
#ก=� 
>;��=UeF� 
�"�< 
H<>
�%� 

• H��� �"���F�>��%�< 

 
- 8=�=� - 

 
0.00 
0.96 
0.96 
0.00 
0.03 

��8
��6��� �"���F�>��%�<6�� CRB >�%��<��ก=�H��=�7�>�[�>��<"���&�
ก��E7���><��>;%��&
���=��$� ����H��8"�� ��� !"# ] � ���� 31 ก�กn�H= 
2557 CRB 8"�E7���H����8
��6��� �"���F�>��%�<ก � VSPP H��� F<�7����
6��� 

E7���H��S%F����ก�]V6�� CRB 8� !"#=N�H��E7���><��>���ก �
��H���� VSPP ���#S%F�4N�U�#  

 
��"ก���#�
$�� CRB (�#?7-./��*-�,�� CRB ก�� EnBW 

��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 
5A 2556 �
� 9 ��/��(�ก  

5A 2557 

EnBW E">E#ก��#ก>��ก� TT�
S%F�U�# CERs 
CRB 
• ��#8"��%�� 

TPCH 
• ����>ก��=N�H��
��� 

 
 

 
 
 

10.00 
 

16.42 

 
 
 

- 8=�=� - 
 

- 8=�=� - 

&��p 2554 CRB 8"��7�� TT�S%F�U�#H��V���>H�"�5 (Certified 
Emission Reduction: CER) ��� CRB 4��58"�� F<
="&���H� 8.25 
#N!�/ 
���# ก � EnBW  5��=���H�5��"U�< CER �"�<>�[��#��<
=�ก&��p 2556  EnBW �e<8"�>���U�#ก>��ก� TT�S%F�U�# CER 
" <ก���� !"# EnBW E7���H��E">E#&
�ก � CRB >�[�><���" 10.0 
������� 6��E7���H��E">E#&
�ก �4N�$%�
���U�< CRB "��#
�����= T
U�< CRB ��� EnBw $%��#N����#�� 10.0 6��<5�=� "����ก��$%�
���
U�< TPCH 6�� VSPP !"#!��
���&
� TPCH �7�������#�� 8.125 
6�� VSPP �7�������#�� 1.875   
!"#�7����><���" 10 ������� ��=ก ��7����
������#�� 10 ��� 
EnBw E">E#&
�ก �4N�$%�
���� F< 2 ��# =�=N�H�����>=����=
>��#�>H�#<8"�ก �=N�H��U�# CER &����H5��� CRB H��8"�� �
���!#E�V
�ก8=�=�ก��#ก>��ก� TT�  ��e�<ก��#ก>��ก� TT�" <ก���� 
CRB # <H<=������������7� CER 8�U�#&
�ก �4N��%��&����H58"� 

%;#ก���ก��8�
�&�� =�H��=>
o����=N�H��E">E#���8"�� �
��กก��#ก>��ก� TT�S%F�U�# CERs =�H��=>
=���=!"#
�7����><���" 10 ������� ��=ก �� "����
������#�� 10 ��� 
EnBw E">E#&
�=�=N�H�����>=����=>��#�>H�#<8"�ก �=N�H��U�<
ก��U�# CER &����H5��� CRB H��8"�� ����!#E�V
�ก8=�=�
ก��#ก>��ก� TT� !"#���' �l =�� "����ก��$%�
���&� CRB 
>;��=UeF���ก���#�� 65.00 >�[����#�� 73.125 6�� CRB 8"�� �
><���"�7���� 10.00 �������  

 

5���(ก-6,,-��7�4�-.7ก8-�� (�#
5���5�*�,-��7�4�-�59�5:��*��� 
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��"ก���#�
$�� MGP ก�� TPOLY 

��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 
5A 2556 �
� 9 ��/��(�ก  

5A 2557 
MGP ���< TPOLY &�ก��
ก������< 
• ><�����#���<
���5�=

� TT�ก������< 
#ก=� 
>;��=UeF� 
�"�< 
H<>
�%� 

• ><�����ก �4�<�� 
• >���
��Fก��H�� 
• <����
���<ก������< 

 
 
 
 

0.00 
8.07 
0.00 
8.07 

- 8=�=� - 
- 8=�=� - 
- 8=�=� - 

 

 
 
 
 

8.07 
0.00 
3.59 
4.48 
0.84 
1.78 

18.87 

� ���� 9 � ���H= 2556 MGP �7�� TT����<>
=�<��!H�<����<
6��<�������]N�!?HU�<!�<899:� (Civil) ก � TPOLY !"#
;����]���กก����� TPOLY =������ก��]V&�ก��� �>
=�ก������<
!�<<����5��
ก��= ��=$e<!�<899:� !"#ก��&
����ก��� �>
=�
ก������<H���H��=$e<<����^�ก��=!#�� <��5�"5 F<<������
��^�ก��=5��<@ 6��<��?N=��$��i5#ก��=�#��<5��>�%��< 
� F<��F =N�H��� TT����=�] 87.75 ������� !"#=���#�U�<� TT� 
17 >"%�� =�ก��� ����ก �<��>�[�>��� 1 �p
� <��ก  MGP ��<

� <�%�#�=� �<�� (Acceptance Certificate) !"# MGP 8"�E7���
><�����<
������#�� 20.00 U�<=N�H��� TT� Se�<=�=N�H��>���ก � 
17.55 ������� 

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก��" <ก����=�
H��=>
=���= >�%��<��ก TPOLY =������ก��]V&�ก��ก������<
!�<899:�E��=��U�< CRB ���U��">���ก � 6��4N�� ����<���E��
ก��H ">�%�ก&
�ก������<!�<899:� (EPC Contractor) H%� DP 
Clean Tech Thailand 8=�=������ก��]V&�����<��!H�<����<
6��<�������]N�!?HU�<!�<899:� (Civil) 6��8=�;���=������ �
<����F 
�7�
� ���H�H�����< =�H��=>
=���= >��#�>H�#<8"�ก ���H�
5��" !"#>�[���H���� TPOLY =�� 5��ก7�8�U F�5��&ก��>H�#<ก �
ก��� ����<ก ��NกH����#�%��&����>?�<��� ก']�H���#H�e<ก � 
6����ก4�ก��^eก'�H��=>�[�8�8"�U�<!H�<ก�� ���' �l # <
8"�� �4�5��6����กก���<��� (IRR) �N<ก���� 5��������' �l 
ก7�
�"8�����8=����#ก������#�� 15 !"#><%���8Uก��E7���><��
���<
�����=��$>��#�>H�#<ก �><%���8U��� TPOLY 8��7�ก �
�NกH����#�%�� 

MGP ���< TPOLY >�[������eก'�
��<��^�ก��= 
• H�����
��� "ก�� 
• >���
��Fก��H�� 

#ก=� 
>;��=UeF� 
�"�< 
H<>
�%� 

 
 

0.28 
 

0.00 
0..30 
0.21 
0.09 

 
 

0.19 
 

0.09 
0.19 
0.28 
0.00 

>=%��� ���� 1 ��<
�H= 2556 MGP  8"�>U���7�� TT����<���ก��ก � 
TPOLY !"#=�U��>U5H���H��=$e<ก��� ">5��#= ������<��ก �

���#<����Eก��5��<@ 6�������eก'�!H�<ก��>ก��#�ก �<��
ก������< � ">5��#= "N6�<��"���� TT�!H�<ก��ก������< 6��
^eก'���������?�;>H�%��<� ก�U�<!H�<ก�� >�[�5�� ก7�
�"
��#�>���� �5 F<65�� ���� 1 ��<
�H= 2556 ��$e< � ���� 31 =���H= 
2557 H�����ก����=5�=� TT� 0.45 ������� 6��H��&E����#�%��@
��=>�[��7����><�� 0.01 ������� 

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก��" <ก����=�
H��=>
=���= >�%��<��ก TPOLY =������ก��]V&�ก��ก������<
!�<899:�E��=��U�< CRB 6��!�<899:��%��@ 6�� MGP 8=�=�
��^�ก����=�H��=�N�H��=>E��#�E�T>�[�4N�H��H�=ก��ก������< 
�7�
� �� 5��H�����<=�H��=>
=���=>�%��<��ก>�[�� 5�����<��<
H�����<���<��� TPOLY ���#>�[�H��5��6��&
�ก ���^�ก����
&
����ก��5�=� TT���F  

MGP ���< TPOLY H��H�=<��
$="�� 
• ������ ����<���"�� (H��

 
 

0.03 

 
 

0.11 

� ���� 23 ��<
�H= 2556 MGP 8"��7�� TT����<>
=�H��H�=<��$=
"��ก � TPOLY !"#;����]���ก�����ก��]V&�ก��ก������<
!�<899:�6��H��H�=<��ก������<�%��@ !"# TPOLY =���H��ก�6��

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก��" <ก����=�
H��=>
=���= >�%��<��ก TPOLY =������ก��]V&�ก��ก������<
!�<899:�E��=��U�< CRB �7�
� �� 5��H�����<=�H��=>
=���=

5���(ก-6,,-��7�4�-.7ก8-�� (�#
5���5�*�,-��7�4�-�59�5:��*��� 
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��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 
5A 2556 �
� 9 ��/��(�ก  

5A 2557 
H��H�=ก��$="��) >H�%��<=%� ���ก�]V����7�H T�7�
� �ก��H��H�=<��$="�� Se�<4N�� �

���<$="��>�[���HH�&�;%F���� Se�<8=�=�>H�%��<=%�6�����ก�]V�����
��=��$��<=��<��8"�5�=H�]?�; ��ก��ก��F TPOLY ��>�[�
4N�� �<�� CIVIL Se�<>�[�<��5��>�%��<��กก���� �$="�����>��#����#
6��� " <� F�ก����� TPOLY >�[�4N�H��H�=<��$="����E��#��<>���=
&
�ก��"7�>���ก��&�U F�5��5��8�=�H��=5��>�%��< �"H��=>���#<&�
"���H��=���E��U�<!H�<ก��8"� !"#=�=N�H��� TT�>���ก � 300,000 
��� =���#�>���� TT� 3 >"%�� >���=5 F<65�� ���� 26 ��<
�H= 2556 
6��5�=� ��eก6�����#� TT�" <ก���� �������=�ก��U#�#��#�>���
��ก8�&
�6���>��o�?�#&�� ���� 30 =�$���#� 2557 

>�%��<��ก>�[�� 5��H�����<>"�#�ก �ก ���� TPOLY ���#>�[�
H��5��6��&
�ก �;� ก<�����&
����ก��5�=� TT���F ��=� F<H��
���ก�]V6��H��>"����<5��<@ ���>ก��#�U��< 5�=���=�]ก�����
H�"�����>ก�"UeF����< 

MGP U�#899:�&
�ก � TPOLY 
• �Nก
��F�%�� 

(��=?�'�=N�H��>;��=) 
#ก=� 
>;��=UeF� 
�"�< 
H<>
�%� 

 
 
 

- 8=�=� - 
 

 
 
 

0.00 
0.10 
0.08 
0.02 

>�%��<��ก MGP 8"�5�"5 F<����899:�E ��H����7�
� �"7�>���ก��
ก������<!�<899:� 6��8"�&
�4N�� ����<
� ก��=��$>E%��=5������
899:�>;%��&E�"7�>���<�� !"#=�>5��VU�< TPOLY >���=&E�<��8"�5 F<65�
� ���� 19 =�$���#� 2557 TPOLY ��5��<E7���H��899:�5�=#�">��#ก
>กo�U�<ก��899:���ก MGP 5�=������� TPOLY &E����< 

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก��" <ก����=�
H��=>
=���= >�%��<��ก TPOLY E7���H��899:�5�=#�"ก��
899:�>��#ก>กo���ก MGP 
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��"ก���#�
$�� MGP ก�� EnBW 

��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 

5A 2556 �
� 9 ��/��(�ก  
5A 2557 

MGP &
�><��กN�#%=ก � EnBW  
• "�ก>��F#H��<� � 

#ก=� 
"�ก>��F#>;��= 
� �E7���"�ก>��F# 
H<>
�%� 

 
  
 0.007 
 0.000 
 0.007 
 0.000 

 
 

- 8=�=� - 

5�=<�ก��><��U�< MGP �p 2555  8"�6�"<��#ก��"�ก>��F#H��<
� ���ก EnBW  !"# EnBw 8"�E7���"�ก>��F#" <ก����&
�ก � MGP 
H��$���&��p 2556 ก������ TPCH ��>U��8��<���>=%��� ����  8 
ก�กn�H= 2556 !"# MGP ��8=�=�ก��&
�กN�#%=� ก']���F��ก5��8�
&����H5 

%;#ก���ก��8�
�&�� =�H��=>
o����>�[���#ก�����>ก�"UeF�
ก��� TPCH ��>U��8��<���&�  MGP 6��8"�� �E7���H%�� F<><��
5��6��"�ก>��F#H��$���6��� 6����8=�=���#ก��กN�#%=><��
��
���<ก �>ก�"UeF���ก  

EnBW HF7����ก �><��กN�#%= ��ก
�$�� �ก��><��&
�ก � MGP 

  � ���� 2 ��<
�H= 2556 MGP 8"�=�ก��>So�� TT�><��กN�ก ����H��
;�]�E#V6
�<
�e�< !"#4N�$%�
���U�< MGP ��ก��#HF7����ก �
��F5�=
� TT�><��กN� 530 ������� 5�=� "����ก��$%�&� MGP !"# 
TPCH 6�� EnBW HF7����ก �&�� "����>���ก �������#�� 46.0 ���� 
GPP 6�� NC HF7����ก �&�� "�������#�� 5.0 6�� 3.0 5�=�7�" �  

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก��" <ก����=�
H��=>
=���= >�%��<��ก4N�$%�
���U�< MGP ��ก��#HF7����ก �
><��กN�5�=� "����ก��$%�
���&�  MGP !"#8=�=�4N�$%�
�����#&"
8"�� �H��5��6����กก��HF7����ก �65��#��<&" 
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$�� MGP ก�� Coco FMC 
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������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 

5A 2556 �
� 9 ��/��(�ก  
5A 2557 

MGP E7���><��= "�7�&
�ก � Coco 
FMC >;%���7���<>E%F�>;��<  
• ><�����#���<
��� 

#ก=� 
>;��=UeF� 
�"�< 
H<>
�%� 

 
  

 
0.00 
0.55 
0.00 
0.55 

 
 
 

0.55 
2.49 
0.00 
3.04 

� ����  8  ก�กn�H=  2556 MGP E7���><��= "�7�&
�ก � Coco 
FMC 5�=
� <�%�U�>��ก><��= "�7�H��� "
�>E%F�>;��<���<
���  
=N�H�� 3.20 ������� >;%��&
� Coco FMC "7�>���ก��� "
�6��
�7���<>E%F�>;��<>;%���7�8�&E�>�[�>E%F�>;��<�7�
� �!�<899:� 5��=� 
MGP 8"�E7���><��= "�7�<�"��� 2 6�� 3 ��ก�7���� 2.00 6�� 1.40 
������� 5�=�7�" � >;%��&
� Coco FMC "7�>���ก���7���<
>E%F�>;��<>;��=UeF� 
!"#>=%��� ���� 21 ;�'?�H= 2557 MGP 8"��7�� TT���S%F���
U�#>E%F�>;��<ก � Coco FMC !"#&
�$%�>��><��= "�7�� F<
=">�[�
����
�e�<U�<ก��E7���=N�H��5�=� TT���S%F���U�#>E%F�>;��< !"# 
Coco FMC ��5��<�7���<>E%F�>;��<��=� F<
="�7���� 23,000 5 � 
6��>=%�� MGP �7�>E%F�>;��<" <ก����8�&E� MGP ��E7���H��
>E%F�>;��<���#�� 50 U�<&�6��<
��F !"#H��>E%F�>;��<�������>
�%���

 ก��ก><��= "�7�U��<5�� ��H���7����><�� 
� <��ก� F��e<>�[�ก��
E7���H��>E%��>;��<5�=&�6��<
��F5�=� TT���S%F���U�#>E%F�>;��<
5��8� 
  

%;#ก���ก��8�
�&�� =�H��=>
o������#ก��" <ก����=�
H��=>
=���= >�%��<��ก MGP >�[�!H�<ก�������"7�>���ก��
!�<899:�E��=��>�< !"#=�8"����<4N��%��"7�>���ก�� � F<��F>;%������<
H��=>E%��= ��&�ก��� "
�>E%F�>;��< MGP �e<8"�E7���><��= "�7�H��
>E%F�>;��<���<
��� >;%��&
� Coco FMC � "
�6���7���<>E%F�>;��<
8��ก������!�<899:�U�< MGP ��>���="7�>���ก�� Se�< MGP 8"�>U��
8����=5���������=�]>E%F�>;��<���H��$���
�%�8=� !"#ก��� "
���=�5�U�<>E%F�>;��<>;%���������=��$H7���]�F7�
� กU�<
>E%F�>;��<���>�[�8�5�=� TT�
�%�8=� 
ก��ก7�
�"=N�H��6��><%���8Uก��E7���><��=�H��=>
=���=
>�%��<��ก MGP ��=��$
 ก><��= "�7�" <ก������ก��ก><��E7���
H��>E%F�>;��<>=%��=�ก��S%F�U�#>E%F�>;��< !"# Coco FMC ��
�7���<>E%F�>;��<8��������ก��<6��<U��"&
T� Se�<5 F<�#N�5�"ก �
���>�]!H�<ก��!�<899:� ก��5�ก>E%F�>;��<8��������ก��<6��<��
E��#�"H��=E%F�U�<>E%F�>;��< 6��>=%�� MGP 5��<ก����S%F�
>E%F�>;��< Coco FMC กo���7�ก��#��#>E%F�>;��<&
�=�U��"
>
=���=ก �ก��>4�8
=� 6����<>E%F�>;��<" <ก����>U��8�>กo�&�
��H��>กo�>E%F�>;��<&���= !"#��H�S%F�U�#>E%F�>;��<=�H��=
>
=���= >�%��<��ก=�ก��ก7�
�"��H�5�=H��H��=E%F�U�<
>E%F� >;��<Se�<��=��$>��#�>H�#<8"�ก ���H�>E%F�>;��<U�<
!�<899:�U�<���' �#��#�%�� (
�ก>���#�>��#���กH��H��=E%F�
6��H��H��=���� >�%��<��ก
�ก>E%F�>;��<5��<E��"ก � 65�H��
H��=E%F�>���ก �����<4�&
�H��H��=����65ก5��<ก ��#��<8=�=�
� #�7�H T) ��ก��ก� F� ��ก��ก��F��#ก����F8"�4���ก��;����]�
>
o�E�����=ก � EnBW Se�<$%�
����#N�&� MGP &�� "�������
>���ก �������#�� 46.00 U�<����"��>��#�E7���6��� 

5���(ก-6,,-��7�4�-.7ก8-�� (�#
5���5�*�,-��7�4�-�59�5:��*��� 
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��"ก���#�
$�� TSG ก�� TPOLY 

��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 
5A 2556 �
� 9 ��/��(�ก  

5A 2557 

TSG ���< TPOLY H��H�=<��
$="�� 
• H��H��H�=ก��$="�� 

 
 

0.47 

 
 

- 8=�=� - 

� ���� 4 =ก��H= 2556 TSG 8"��7�� TT����<>
=�H��H�=<��$="��ก � 
TPOLY !"#;����]���กก����� TPOLY =������ก��]V&�ก��ก������<
!�<899:�6��H��H�=<��ก������<�%��@ !"# TPOLY =���H��ก�6��
>H�%��<=%� ���ก�]V����7�H T�7�
� �ก��H��H�=<��$="�� Se�<4N�� ����<$=
"��>�[���HH�&�;%F���� Se�<8=�=�>H�%��<=%�6�����ก�]V�������=��$��<=��
<��8"�5�=H�]?�; ��ก��ก��F TPOLY ��>�[�4N�� �>
=�<��ก������< Se�<
>�[�<��5��>�%��<��กก���� �$="�����>��#����#6��� " <� F�ก����� TPOLY 
>�[�4N�H��H�=<��$="����E��#��<>���=&
�ก��"7�>���ก��&�U F�5��5��8�
=�H��=5��>�%��< �"H��=>���#<&�"���H��=���E��U�<!H�<ก��8"�� TT�
" <ก����=�=N�H��>���ก � 300,000 ��� 6�� TPOLY =�ก��6��<<��
>;��=>5�=��ก&�� ���� 5 ก�=?�; ��V 2556 =N�H�� 170,000 ���  
 

%;#ก���ก��8�
�&�� =�H��=>
o����ก�����< TPOLY 
=�H��=>
=���=��กก����� TPOLY =������ก��]V&�ก��
ก������<!�<899:�E��=��U�< CRB ��ก��ก� F� TSG 8=�=�
��H��ก����=�H��=�N���<��^�ก��=�����>U��8�H��H�=<��$=
"��&
��#N�&�H�]� ก']�>
=���=�7�
� �ก��ก������<
!�<899:� �7�
� �� 5��H�����<=�H��=>
=���= >�%��<��ก
>�[�� 5��������<��<��ก� 5��H��5��6��U�<;� ก<�� 
TPOLY 5�=���< ��=� F<H�����ก�]V6��H��>"����<5��<@ ���
>ก��#�U��< 5�=���=�]ก�����H�"�����>ก�"UeF����< 

TSG กN�#%=><����ก TPOLY  
• ><��กN�#%=��#�� F� 

#ก=� 
>��ก���# 
E7���H%� 
H<>
�%� 

• "�ก>��F#���# 
• "�ก>��F#H��<���# 

#ก=� 
"�ก>��F#>;��= 
E7���"�ก>��F# 
H<>
�%� 

 
 

3.03 
0.00 
3.03 
0.00 
0.06 

 
0.07 
0.06 
0.13 
0.00 

 
 

- 8=�=� - 
 
 
 
 

&��p 2555 TPOLY &
� TSG (&�U]�� F� TSG # <>�[����' �#��#U�< 
TPOLY) กN�#%=><��5�=� TT�กN�#%=><���<><���7���� 15.0 ������� ���
� 5��"�ก>��F#���<��<5�=� 5��"�ก>��F# MLR U�<���H��;�]�E#V6
�<

�e�< >;%��&
� TSG &E�&�ก��"7�>���ก��>�%��<=��E�� =; ��V !"# TSG 
5ก�<E7���><��5��H%�&
�6ก� TPOLY กo5��>=%�� TPOLY ��<$�=  
&��p 2556 TSG 8"�E7���><��5��6��"�ก>��F#� F<
="5�=� TT�กN�#%= 6��
��8=�=�ก��กN�#%=><��&�� ก']���Fก � TPOLY &����H5��ก 

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก��" <ก����
=�H��=>
=���= >�%��<��ก&�E��<�p 2555 Se�<�#N���
���<
ก��� "�7�=��E�� =; ��VU�< TSG Se�<>;%��ก��&
�>ก�"H��=
>�[�8�8"�&�ก��� "5 F<!�<899:� TSG �e<=�H��=�7�>�[�5��<
กN�#%=>;%��ก��"7�>���ก��" <ก���� !"#� 5��"�ก>��F#=�H��=
>
=���=>�%��<>�[���ก� 5��"�ก>��F#���8=�65ก5��<��ก��� 
TPOLY กN�#%=��ก�$�� �ก��><�� &�U]���� TSG # <8=�>���=
!H�<ก���e<���8=���=��$กN���ก�$�� �ก��><��8"�>�<  

TSG ���< TPOLY &�ก��
� �>
=�ก������<!�<899:� 

 
 

 
 

� ���� 21 =���H= 2557 TSG 8"��7�� TT����<>
=� ��ก6��  � "
�
���ก�]V ก������< 6�� �"��� ( EPC Contract ) !�<899:�E��=��U��" 

%;#ก���ก��8�
�&�� =�H��=>
o������#ก��" <ก����
=�H��=�=>
5��=4� >�%��<��ก TPOLY =������ก��]V&�

5���(ก-6,,-��7�4�-.7ก8-�� (�#
5���5�*�,-��7�4�-�59�5:��*��� 
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��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 
5A 2556 �
� 9 ��/��(�ก  

5A 2557 

• ><�����#���<
���5�=
� TT�ก������< 

 

- 8=�=� - 94.50 9.9 >=ก�� 55V  ก � TPOLY !"#;����]���กก����� TPOLY =�
�����ก��]V&�ก��� �>
=�ก������<!�<<����5��
ก��= ��=$e<
!�<899:� !"#ก��&
����ก��� �>
=�ก������<H���H��=$e<<����^�ก��=
!#�� <��5�"5 F<<��������^�ก��=5��<@ 6��<��?N=��$��i5#ก��=
�#��<5��>�%��< !"#=�=N�H��5�=� TT��7���� 630.00 ������� � F<��F
=N�H��5�=� TT���F�� �>;��=UeF���ก��H����=N���� TPOLY 8"�� �ก��
H ">�%�ก ��ก4N����=>U�����ก�"��H� 3 ��# >=%��� ���� 31 ;�'?�H= 
2555 ��� 616.51 ������� 
�%����#�� 2.2 ��������H�� �"� ���ก�]V���
�� �>;��=UeF� Se�<��H������ �UeF�" <ก���� # <5�7�ก�����H�U��>���U�<4N����=
���ก�"��H���ก 2 ��#U��<5�� !"# TSG 8"�E7���><�����<
���<�"��� 1 
���#�� 15.00 U�<=N�H��� TT� Se�<=�=N�H��>���ก � 94.50 �������6��� 
6�� TSG ��E7���><�����<
���<�"��� 2 ���#�� 10.00 U�<=N�H��� TT� 
?�#&� 30 � � 
� <��ก TSG 8"����= 5�6��ก������<!�<899:�>�%F�<5�� 

ก��ก������<!�<899:�=�6���
��#H� F< 6��U��>���U�< 
TPOLY &E���#�>���&�ก��ก������<� F�ก���4N�� �>
=���#
�%�� 
��ก��ก� F� ��H�H�����< TPOLY >�[���H����>
=���= 
��กก����� TPOLY =�U��>������"������"��ก4N�>U�����=���ก�"
��H� 3 ��# !"#><%���8Uก��E7���><�����<
�����=��$
>��#�>H�#<ก �><%���8U��� TPOLY 8��7�ก ��NกH����#�%�� 

TSG >E���$#�5V��ก TPOLY  
• H��>E�� 
• >���
��F�%�� 

 
- 8=�=� - 
- 8=�=� - 

 
 

 
0.01 
0.01 

� ���� 1 ก �#�#� 2557 TSG 8"�>E���$ก������ก TPOLY !"#=�� 5��
H��>E��>���ก � 10,000 ��� / >"%�� >�[�>��� 2 >"%�� >;%��&
� TSG &E�&�
ก��"7�>���ก�� ������<�����>ก��#�>�%��<ก �<��=��E�� =; ��V 

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก��" <ก����
=�H��=>
=���= >;%�����!#E�V&�ก��"7�>���ก�����
>ก��#�>�%��<ก �<��=��E�� =; ��V Se�<>�[�ก��E ��H���
���=�] 2 >"%�� " <� F�ก��>E���e<=�H��=>
=���=ก���ก��
S%F� ��ก��ก��F � 5��H��>E��=�H��=>
=���= !"#=���H�
>��#�>H�#<6��8=��N<8�ก�����H�5��" 

5���(ก-6,,-��7�4�-.7ก8-�� (�#
5���5�*�,-��7�4�-�59�5:��*��� 
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��"ก���#�
$�� MWE ก�� TPOLY 

��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 
5A 2556 �
� 9 ��/��(�ก  

5A 2557 

MWE ���< TPOLY &�ก��ก������< 
• ><�����#���<
���5�=� TT�

ก������< 
#ก=� 
>;��=UeF� 
�"�< 
H<>
�%� 

• ><��= "�7�>H�%��<� ก� 
#ก=� 
>;��=UeF� 
�"�< 
H<>
�%� 

• <����
���<ก������< 
• ><�����ก �4�<�� 
• >���
��Fก��H�� 

 
 
 

- 8=�=� - 

 
 
 

0.00 
14.70 
7.28 
7.42 

 
0.00 

100.70 
27.19 
73.51 

158.96 
7.44 

51.08 

� ���� 21 =���H= 2557  MWE 8"��7�� TT����<>
=�<����ก6��  � "
�
���ก�]V  ก������<6���"��� !�<899:�E��=��U��" 9.9 >=ก�� 55V ก � 
TPOLY !"#6��<<����ก>�[�� TT� 2 s� �   
� TT�s� ���� 1 H%� � TT����<>
=�<��ก������<6�������]N�!?H  (Civil 
Work) =�=N�H��� TT�>���ก � 98.00 ������� !"# MWE E7���><�����<
��� 
���#�� 15.00 U�<=N�H��� TT� Se�<=�=N�H��>���ก � 14.70 �������  
� TT�s� ���� 2 H%� � TT����ก�]V899:�6��>H�%��<ก�U�<!�<899:� =�
=N�H��5�=� TT�>���ก � 402.80 ������� !"#=�><%���8Uก�����#><��
���<
������#�� 20.00 U�<=N�H��� TT�  
!"#&�� ���� 30 =�$���#� 2557 MWE ���#><�����<
���6���5�=><%���8U 
>���ก � 80.56 ������� 6�� MWE ��E7���><�����#���<
���<�"��� 2 ���#
�� 5.00 U�<=N�H��� TT� ?�#&� 30 � � 
� <��ก MWE 8"����= 5�6��
U�<!�<899:�>�%F�<5��6��� 

%;#ก���ก��8�
�&�� =�H��=>
o������#ก��
" <ก����=�H��=>
=���= >�%��<��ก TPOLY =�
�����ก��]V&�ก��ก������<!�<899:� 6��U��>���U�< 
TPOLY &E���#�>���&�ก��ก������<� F�ก���4N�� �>
=�
��#�%�� &�����U�<��H�H��� �>
=�=�H��=>
=���=
>�%��<��ก��=��$>��#�>H�#<ก �H��� �>
=�ก������<
!�<899:�E��=��5�=><%���8U��<>�H��H���&ก��>H�#<ก �
��กก�����>=��U�<4N����
�����' �l 6����=��$
>��#�>H�#<8"�ก ���H�5��" !"#>�[���H���� TPOLY =�
� 5��ก7�8�U F�5��&ก��>H�#<ก �ก��� ����<ก ��NกH����#�%��
&����>?�<��� ก']�H���#H�e<ก � 6����ก4�
ก��^eก'�H��=>�[�8�8"�U�<!H�<ก�� ���' �l # <
8"�� �4�5��6����กก���<��� (IRR) �N<ก���� 5�����
���' �l ก7�
�"8�����8=����#ก������#�� 15 !"#><%���8U
ก��E7���><�����<
�����=��$>��#�>H�#<ก �><%���8U��� 
TPOLY �7�ก ��NกH����#�%�� 

MWE ���< TPOLY H��H�=<��$=
"�� 
• H��H��H�=ก��$="�� 

 
 

- 8=�=� - 

 
 

- 8=�=� - 

] � ���� 30 >='�#� 2557 MWE 8"��7�� TT����< TPOLY &�ก��H��H�=
<��$="�� !"#;����]���ก�����ก��]V&�ก��ก������<!�<899:�6��
H��H�=<��ก������<�%��@ !"# TPOLY =���H��ก�6��>H�%��<=%� ���ก�]V���
�7�H T�7�
� �ก��H��H�=<��$="�� Se�<4N�� ����<$="��>�[���HH�&�;%F���� Se�<
8=�=�>H�%��<=%�6�����ก�]V�������=��$��<=��<��8"�5�=H�]?�; 
��ก��ก��F TPOLY ��>�[�4N�� �>
=�<��ก������< Se�<>�[�<��5��>�%��<��ก
ก���� �$="�����>��#����#6��� " <� F�ก����� TPOLY >�[�4N�H��H�=<��$="��
��E��#��<>���=&
�ก��"7�>���ก��&�U F�5��5��8�=�H��=5��>�%��< �"H��=
>���#<&�"���H��=���E��U�<!H�<ก��8"�!"#=�=N�H��� TT�>���ก � 300,000 
��� =���#�>���� TT� 4 >"%�� (30 >='�#� 2557 $e< 31 ��<
�H= 2557) 
�#��<8�กo5�= >�%��<��ก=�H��=���E��U�<U F�5��ก��>��#ก>กo�><��6�����E��
&�>�%��<H��=H%�
���U�<<��$="�����# <8=�6���>��o�&�85�=����� 3 �p 2557 
�e<# <8=�=�ก��E7��� 65�<��� F<
=">��o���F�&�85�=����� 4 �p 2557 6�� 
MWE =�ก��E7���><��� F<�7����6���&�� ���� 1 ;�^��ก�#� 2557 

%;#ก���ก��8�
�&�� =�H��=>
o������#ก��
" <ก����=�H��=>
=���= >�%��<��ก TPOLY =�
�����ก��]V&�ก��ก������<!�<899:�E��=��U�< CRB 
�7�
� �� 5��H�����<=�H��=>
=���=>�%��<��ก>�[�� 5��
H�����<>"�#�ก �ก ���� TPOLY ���#>�[�H��5��6��&
�ก �
;� ก<�����&
����ก��5�=� TT���F ��=� F<H�����ก�]V6��
H��>"����<5��<@ ���>ก��#�U��< 5�=���=�]ก�����H�"���
��>ก�"UeF����< 

5���(ก-6,,-��7�4�-.7ก8-�� (�#
5���5�*�,-��7�4�-�59�5:��*��� 
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��"ก���#�
$�� MWE ก�� GPP 

��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 
5A 2556 �
� 9 ��/��(�ก  

5A 2557 

MWE ���< GPP &�ก��$="�� 
• ><�����#���<
��� 

#ก=� 
>;��=UeF� 
�"�< 
H<>
�%� 

• <����
���<ก������< 
• >���
��Fก��H�� 

 
 

- 8=�=� - 
 
 
 

- 8=�=� - 

                                              
 

0.00                                              
3.75                                                 
2.81                                                 
0.94                                               

11.25                                                 
3.46 

� ���� 29 >='�#� 2557  MWE 8"��7�� TT����<>
=�$="�� U�"
"��U�#��#"�� 6���"� ";���=���ก�]Vก � GPP !"#;����]���ก
ก�����4N����
��U�< GPP =������ก��]V&�ก��ก������<!�<899:�
6��H��H�=<��ก������<�%��@ 
=N�H��� TT�>���ก � 15.00 �������  !"# MWE ���#���<
���
5�=� TT����#�� 25.00 U�<=N�H��� TT� 
�%�>��#�>���ก � 3.75 
������� Se�<><�����#���<
�����$Nก5 "���#5�=<�"<������7��7�>�o�
6����<=��<��6��� !"# ] ��F�85�=����� 3 �p 2557 GPP 8"��7�
�7�>�o�6����<=��<��>������#�� 75.00 

H]�ก��=ก��5������ =�H��=>
o������#ก��" <ก����=�H��=
>
=���= >�%��<��ก4N����
��U�< GPP >�[�4N�=������ก��]V
����<!�<899:� 6��=�H��=��=��$&�ก���� ��?�;;%F����"��&
�
>
=���=ก �ก��ก������<!�<899:�8"� ������H�H�����<=�H��=
>
=���= >�%��<��ก��=��$>��#�>H�#<ก ���H�5��"  
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��"ก���#�
$�� SGP ก�� TPOLY 

��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 
5A 2556 �
� 9 ��/��(�ก  

5A 2557 
SGP ������< TPOLY "7�>���ก��
U�&����T�56��"7�>���ก��"���
=��E�� =; ��V 
• <����
���<ก������< 

#ก=� 
>;��=UeF� 
�"�< 
H<>
�%� 

 
 
 
 

- 8=�=� - 

 
 
 
 

0.00 
4.00 
0.00 
4.00 

� ���� 26 =���H= 2557 SGP 8"��7�� TT����< TPOLY >�[�
4N�"7�>���ก��� ">5��#=>�ก���6��"7�>���ก��U����T�55��

���#<��5��<@ ���>ก��#�U��< ��=� F<ก��"7�>���ก��"���=��E�
� =; ��VU�<!H�<ก��!�<899:�E��=�� !"#=�=N�H��� TT�>���ก � 
10.00  ������� ><%���8Uก�����#E7���6��<>�[� 3 <�" 

• <�"��� 1 �7���� 4.00 ������� 
� <��ก�<��=&�
� TT� 

• <�"��� 2 �7���� 3.00 ������� 
� <��ก� ���#<��
���E�=�?��<HVก�����
������57��� =�=5�>
o�E��&
�
ก������<��H�� " "6��< 
�%��%F�$����H��  

• <�"��� 3 �7���� 3.00 ������� 
� <��ก8"�� �
&����T�5���ก��ก��ก��!�<<�� 

 
] � ���� 27 =���H= 2557 SGP E7������<
���5�=� TT�<�"6�ก 
�7���� 0.50 ������� 6��� ���� 30 >='�#� 2557 ���#>;��=��ก
�7���� 3.50 ������� ��=���#<�"6�ก5�=� TT��7���� 4.00 
������� 
� <��ก�<��=&�� TT�� ���� 26 =���H= 2557 

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก�����< TPOLY 
>;%��"7�>���ก��U�&����T�55��< @ �7�
� �"7�>���ก��!�<899:�
E��=�� 6��<��"���=��E�� =; ��V=�H��=�7�>�[�6��>
=���=  
>�%��<��ก TPOLY =�^ ก#?�;6�������ก��]V&�ก��� ">5��#=
>�ก���>;%��U�&����T�55��<@ >E�� &� �1 �< 3  �< 4  6�� 
PPA 6��=���H��ก����E7���T6��>U��&�U F�5��&�ก��>"��>�%��<
U�&����T�55�=���ก����U��<5�� ��ก��ก��F TPOLY # <=�
H��=��=��$6�������ก��]V&�ก��������<��6���7�H��=
>U��&�ก �=��E�&�;%F���� 
 
� F<��F ��H�H�����<=�H��=>
=���= >�%��<��กH�����<" <ก���� �#N�
?�#&�<����=�]���5 F<8�� H%����=�]���#�� 2 v ���#�� 3 
U�<<����=�]ก���<���� F<!H�<ก�� 6��>=%��>��#�ก �!H�<ก��
�%�� @ ���4���=� >E��  CRB MGP ��=�=N�H��&ก��>H�#<ก � 
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5���5�*�,-��7�4�-�59�5:��*��� 



  ������ ��	�
� �	��
��� ������� ���ก�� (�����) 
 

������� 2 
������ 189 

��"ก���#�
$�� PTG ก�� ��"5�#W�& X�����%�� ("��"5�#W�&") 

��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 
5A 2556 �
� 9 ��/��(�ก  

5A 2557 
PTG ���#><���"��<���#&
�ก ���#
���?�� ^����<H7� 
• ><���"��<���# 

#ก=� 
>;��=UeF� 
�"�< 
H<>
�%� 

 
 
 

0.00 
4.00 
0.00 
4.00 

 
 
 

4.00 
0.00 
4.00 
0.00 

���' �l � "5 F<  PTG  >=%�� 31 5���H= 2556 6��=��
=�#&
�
��#���?�� Se�<=������ก��]V&�ก��� "ก��ก��=ก��=��������=
?�H���E�E� >�[�4N�"7�>���ก��<��=��E�� =; ��VU�<!H�<ก�� 
Se�<�7�>�[�5��<����<H��=>U��&�� �"�5�����E�E� 6��
���#<��
5��<@ &�;%F���� >;%��&
�>ก�"ก�����ก��=��������=��
���<!H�<ก�� 
?�H���E�E� 6��
���#<����#ก�����>ก��#�U��< !"# PTG 8"�
���#><���"��<���#  4.0 ������� >;%���7���<>�[�H��&E����#&�ก��
"7�>���<�� >E�� H����
�� H�����ก���$� ���< H��>��F#>��F#<U�<
4N�>U�����=���E�= H��>E���$�����&�ก��� "���E�= 6��H�����<
��H��ก�&�ก��� ">5��#=ก�����E�= !"#&�����U�<><���"��<
���#���# <8=�8"�&E�&�ก��"7�>���ก�� ��#���?��  8"�>H��#�V><���"
��<" <ก����ก ����' �l 6���>=%��� ���� 8 ก�กn�H= 2557  

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก��><���"��<
���#" <ก����=�H��=�7�>�[� >�%��<��ก&���#�>���=6�กU�<ก��
; `��!�<899:�E��=�� ก������<H��=>U��&�ก �E�=E� 6��

���#<��5��<@  ���U��<!�<899:�>�[����<�7�H T >�%��<��ก
!�<899:���5��<�#N����=ก �E�=E�&���#�#�� 6��><���"��<���#
���>�[�H��=��E�" <ก����=�H��=>
=���= !"#>�[��7�������8=�
>ก��ก������ก7�
�"&�<����=�]���5 F<8���7�
� �ก��; `��
!H�<ก��  

5���(ก-6,,-��7�4�-.7ก8-�� (�#
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��"ก���#�
$�� BBRP ก�� TPOLY  

��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 
5A 2556 �
� 9 ��/��(�ก  

5A 2557 
TPOLY/TPCH H��<E7���H��
��� 
BBRP  
��#ก����
���< TPOLY 6�� 
BBRP 
• "�ก>��F#H��<� � 

#ก=� 
"�ก>��F#>;��= 
� �E7���"�ก>��F# 
H<>
�%� 

 
��#ก����
���< TPOLY 6�� 
TPCH 
• ><��&
�กN�#%=��#�� F� 

#ก=� 
>;��=UeF� 
� �E7��� 
H<>
�%� 

• "�ก>��F#� � 

 
 
 
 

 
 1.21 
 0.00 
 1.21 
 0.00 

 
 

 
 

8.50 
 0.00 
 8.50 
 0.00 
 0.60 

 
  

 
 
 

- 8=�=� - 
 
 
 
 
 
 
 

- 8=�=� - 

&�� ���� 17 � ���H= 2553 TPOLY 8"�>U��S%F�
���>;��=���U�< BBRP &�
� "�������#�� 85 !"#=�=N�H��
�����=>���ก � 8.5 ������� !"#��� TPOLY 
8=�8"�E7���H��
���>;��=���U�< BBRP �e<=�4�&
� TPOLY =��$���>�[��Nก
��F
H��
���U�< BBRP Se�<4Nก; �"��#� 5��"�ก>��F#���#�� 7 5���p 
5��=�� ���� 26 � ���H= 2555 TPOLY 8"�� "5 F< TPCH UeF�>;%���� �
!H�<����<6��&
� TPCH >U��S%F�
�����= T&����' �!�<899:�� F<
="��ก 
TPOLY Se�<��=$e< BBRP "��# >�[�>
5�&
� TPCH =��$���>�[��Nก
��FH��
��� 
BBRP 6�� TPOLY U]�>"�#�ก � TPOLY =�����>�[��Nก
��Fก � TPCH &�
=N�H��>"�#�ก �>���ก � 8.5 ������� 
5��=�� ���� 27 � ���H= 2556 TPCH 8"�E7����Nก
��FH��
���U�< BBRP =N�H�� 
8.5 ������� ;���=� F<"�ก>��F#�7���� 0.595 ������� 6��&�� �>"�#�ก � 
TPOLY 8"�E7���
��F&
�ก � TPCH =N�H�� 8.5 ������� ;���=� F<"�ก>��F#
�7���� 0.595 ������� Se�<>�[��7����>"�#�ก ���� TPCH ���#E7��� BBRP 
6�� TPOLY # <8"�E7���"�ก>��F#H��<���#H��
���&
�ก � BBRP ���>ก�"UeF�ก���
ก��!��
��� BBRP &
�ก � TPCH � F<
=">���ก � 1.21 ������� H��$���
6��� 

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก��
" <ก����=�H��=>
=���= >�%��<��ก TPCH 8=�8"�
E7���H��
���5 F<65�6�ก>�%��<��ก!H�<ก�� BBRP # <=�
H��=8=�6�����&�>�%��<ก��U�&����T�5&�ก��
ก������< �e<>�[�ก��"�ก��������� ก'��?�;H���<8����� 
TPCH �#��<8�กo"�>;%��>�[�ก���"?���>�%��<� 5��
"�ก>��F#��� TPCH ���#&
�ก � BBRP �e<8"�"7�>���ก��
>;��=���&
�H��$���>5o=�7����6��>��#ก&
� TPOLY 
E7���><��H%��Nก
��FH��
���&�H���>"�#�ก �6���7����
>"�#�ก � Se�<>
=���=!"#���' �l 8=�>��#���!#E�V 
&�U]�������' �#��# BBRP กo8"�� �4�5��6��>�[�
"�ก>��F#"��#  
 

BBRP กN�#%=><����ก TPOLY 
• ><��กN�#%=��#�� F� 

#ก=� 
>��ก���# 
E7���H%� 
H<>
�%� 

• "�ก>��F#���# 

 
 

2.24 
0.70 
2.94 
0.00 
0.18 

 

 
 

- 8=�=� - 

TPOLY &
� BBRP กN�#%=><��5�=� TT�กN�#%=><�� � ���� 17 � ���H= 2553 
�<><��� F<
="�7���� 8.5 ������� ���� 5��"�ก>��F#���#�� 7.0 5���p >;%��&E�
&�ก��"7�>���ก��>�%��<=��E�� =; ��V !"# BBRP 5ก�<E7���><��5��H%�
&
�6ก� TPOLY กo5��>=%�� TPOLY ��<$�= !"#&�� ���� 26 � ���H= 2556 
BBRP 8"�E7���><��5��6��"�ก>��F#� F<
="5�=� TT�กN�#%= 

%;#ก���ก��8�
�&�� =�H��=>
o���� ��#ก��
" <ก����=�H��=�7�>�[� >�%��<��กE��<�p 2553 $e< 
2556 BBRP �#N���
���<ก��� "�7�=��E�� =; ��V>;%��
ก��&
�>ก�"H��=>�[�8�8"�&�ก��� "5 F<!�<899:� �e<
�7�>�[�5��<กN�#%=>;%��>���=�?�;H���<��<ก��><�� !"#
� 5��"�ก>��F#=�H��=>
=���=>�%��<��ก� 5��
"�ก>��F#&ก��>H�#<ก �� 5��"�ก>��F#��� TPOLY กN�#%=
��ก�$�� �ก��><�� &�U]���� BBRP # <8=�>���=
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��"ก�� ,�����"ก�� (�-�����) ��ก�;#��"ก��/%
������59�(�# 
%
��&���8*&�?�,����"ก�� 

%
����@�,��%;#ก���ก��8�
�&�� 
5A 2556 �
� 9 ��/��(�ก  

5A 2557 

• "�ก>��F#H��<���# 
#ก=� 
"�ก>��F#>;��= 
E7���"�ก>��F# 
H<>
�%� 

 
0.12 
0.18 
0.30 
0.00 

!H�<ก���e<���8=���=��$กN���ก�$�� �ก��><��8"�>�< 
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1.  ��8�ก��(�#,���8��4�ก����*��8�ก�������"ก���#�
$��ก�� 

���' �l 8"�ก7�
�"=�5�ก��ก���7���#ก����
���<ก �U�<���' �l 6�����' �#��# ก ���HH�������=�H��=U "6#�<��<
4����!#E�V =�����8"�����>��# 
�%����=�H��=U "6#�<��<4����!#E�V&����H5 5�=���ก�^U�<H]�ก��=ก��ก7�ก �5��"��� 
6��H]�ก��=ก��5��"
� ก�� ;#V6
�<���>�^8�#  !"#H]�ก��=ก��5��������>�[�4N�&
�H��=>
o�>ก��#�ก �H��=�7�>�[�&�
ก��>U���7���#ก��6��H��=>
=���=��<"�����H�U�<��#ก�� !"#;����]���ก><%���8U5��<@ &
�>�[�8�5�=� ก']�ก��
"7�>���ก��H���ก5�&�5��" 6��=�ก��>���#�>��#���H����>ก�"UeF�ก ���HH�?�#��ก &�ก�]����H]�ก��=ก��5������8=�=�H��=
E7���T&�ก��;����]���#ก����
���<ก ����>ก�"UeF� ���' �l ��� "&
�=�4N�>E��#�E�T�����
�%�4N����� TE�U�<���' �l >�[�4N�&
�
H��=>
o�>ก��#�ก ���#ก����
���<ก �" <ก���� >;%���7�8����ก��ก��5 "���&�U�<H]�ก��=ก�����' � 6��/
�%� H]�ก��=ก��
5������ 6��/
�%� 4N�$%�
��� ก���ก��>U���7���#ก�� 5�=65�ก�]� Se�<4N�������=�H��=U "6#�<��<4����!#E�V
�%�=�����8"�����>��#
&�ก���7���#ก����
���<ก ���8=�=��������ก>��#<&�ก�����= 5�ก���7���#ก����
���<ก �" <ก���� 

��ก��ก� F� ���' �l ��"7�>���ก��>�u">4#U��=N�&�ก���7���#ก�����>ก��#�!#<ก � 6��ก��8"�=�
�%��7�
���#8�U�<����� ;#V���
�7�H TU�<���' �l 6�����' �#��# 5�=U��ก7�
�"U�<H]�ก��=ก��ก7�ก �5��"��� 6��H]�ก��=ก��5��"
� ก�� ;#V6
�<���>�^
8�# 5��"����=$e<=�5����� TE����ก7�
�"!"#�=�H=� ก� TE�6��4N����� TE����T�56
�<���>�^8�# 

2.  ��"��"��/�(�
��-�ก�������"ก���#�
$��ก��4����%8 

���' �l 6��/
�%� ���' �#��# ���=�ก���7���#ก����
���<ก �ก ���HH�������=�H��=U "6#�<��<4����!#E�V&����H5 
!"#���' �l 8"�ก7�
�"�!#��#&�ก��>U���7���#ก�����=�� ก']�>�[����ก���ก5� 
�%���#ก���� ��������ก���ก5� &
�=�><%���8U��<
ก��H��� ��8� ��=��$>���#�>��#� ���<��<8"�ก �� ก']�><%���8U��<���ก�����>?�>"�#�ก �ก �ก���7����ก��ก ���HH��%�� ;���=� F<
ก7�
�"��H�6��><%���8U��#ก��&
�E ">�� >�[����= 6��8=�ก��&
�>ก�"ก��$��#>�4����!#E�V � F<��F4N�5������?�#&����7�
������
&�ก��5������U��=N�6��� "�7���#<��>;%��&
�H]�ก��=ก��5������;����]�6��&
�H��=>
o�$e<H��=>
=���=U�<��H�6��
H��=�=>
5��=4�U�<ก���7���#ก��>�[���#85�=��  

�7�
� �ก��>U���7���#ก����
���<ก �ก ���HH�������=�H��=U "6#�<��<4����!#E�V ���=�� ก']���ก>
�%���ก���H6�ก 
8"�6ก� ก���7���#ก�����ก���ก5�6����#ก���� ��������ก���ก5� Se�<8=�=�><%���8Uก��H��� ��8� 6����#ก����
���<ก ��%��@ ���' �l 
8"�ก7�
�"�!#��#&
�"7�>���ก��5�==�5�ก��6��U F�5��&�ก�����= 5�ก���7���#ก����
���<ก � 6��>�u">4#U��=N�&�ก���7�
��#ก�� 5�=���8"�����8��&� U�� 1. U��<5�� 

 � F<��F ���' �l H�"���&����H5 ���' �l 6�����' �#��# ��# <H<=�ก���7���#ก����
���<ก ����=�H��=5��>�%��< >E��  ก��
>E��;%F�����7�� ก<����ก TPOLY !"#���' �l ก7�
�"&
�ก��>U���7���#ก��>�[�8�5�=><%���8Uก��H���ก5�6��8=�ก��&
�>ก�"ก��$��#>�
4����!#E�V Se�<ก7�
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